Professor Katiraie  Caleulus I Spring 2006, Test I
Name:

(24 Pednts, Dromain of sach preblem iz w orth 3 Points, and Range is worth 3 Padets)
1) Find the Domain and Range of the following functions:

8) fix)=Jtd-32) b) g(x)=1ln(lax + 3))
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2) The graph of g is pven.
Cj’t;ﬁ\, a} State the value of g(2) = b
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d) Estimate the domain of g_{x)
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(o rsiney 3) Sketch the graph of the following functon:
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(12 Paints) 4) Determine whether fis even, odd, or neither even nor odd;
(Must Use Definition of Even, Odd Funmmns)
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(10 Points} 5) A small-appliance manufacturer finds that it costs $9000 to produce 1000
foaster ovens a week and $12000 to produce 1500 toaster ovens a week.

a) Express the cost as a function of the number of the toaster ovens produced,
assuming that it 1§ linear.
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@ C(x) = bX 3000
b) What is the slope of the graph and what does 1t represent?
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¢} What is the y-intercept of the graph and what does it represent?
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6) I f(x)=5x+loglx+10), find /(1)
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{10 Poinly)
74) Sketch the curve represcnted by the parametric equation

y=f, y=Il-t, 0<i<5
Indicate with an arrow the direction in which the curve is traced as t increases.
Make a table of puints with the corresponding values of 7.
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%) Use the following table to evaluate the expressions.
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{12 painssy 9)  Let £ be a one-to-one function whose inverse function is given by the formula: || .
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{24 Poinis) .
[2) Given f(x)=In(x) and g(x)=x"-9,

Find the followinge and State their Domains:

(X-3) = In(/)ﬂ-- "/] (-3
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Extra Credits:

3 {6 pointy) . . )
1% \ 13) Find an expression for the function whosec graph consists of the line segment
S/ from the point (-2,2) to the_pi}int {-1,0) together with the top half of the circle with the
—— center at the origin and radius 1.
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14} Express the function I™(x} = —
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as a composition of three functions (namely (fogoh)(x}).
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